International English Olympiad
“Formula of Unity” / “The Third Millennium”
Year 2024/2025. Qualifying round

Answers

FEach correct answer costs 1 point. In tasks [1]—[5] only singular forms of words were allowed.

Answers for R5—-R6 Answers for R7—-R9 Answers for R10—R11
[1] (a) C [1] (a) D [1] (a) D
(b) G (b) B (b) H
(c) A (c) G (c) F
(d) E (d) F (d) B
(e) F (e) J (e) G
(f) D (f) € (f) I
(g) I (g) E (g) C
(h) H (h) I (h) J
i) B (i) H i) E
Q) Q) A 0 A
2] (a) C 2] (a) A 2] (a) A
(b) A (b) C (b) A
(c) B (c) B (c) C
(d) B (d) C (d) B
(e) C (e) A (e) A
[3] (a) ORCHID [3] (a) ENDANGERED [3] (a) CYBERCRIME
(b) CACTUS (b) PENINSULA (b) BREAKTHROUGH
(¢c) SUNFLOWER (¢) TWILIGHT (¢) CRYPTOCURRENCY
(d) CARNATION (d) THUNDERSTORM (d) NETWORKING
(e) DAFFODIL (e) EMISSIONS (e) ALGORITHM
[4] (a) H [4] (a) F [4] (a) D
(b) B (b) 1 (b) H
(c) E (c) G (c) J
(d) D (d) C (d) F
(e) 1 (e) H (e) B
(f) G (f) D (f) A
(g) F (g) A (g) E
(h) C (h) E (h) G
(i) J (i) B (i) 1
(i) A (i) J (@) C
[5] (a) SEEK [5] (a) BRITISH [5] (a) LAMP
(b) BUCKINGHAM (b) INDUSTRIAL (b) SPECIES
(¢c) BEN (¢) STONEHENGE (¢) SNOWDONIA
(d) WINDSOR (d) HAWKING (d) CANTERBURY
(e) LANTERN (e) ROCHESTER (e) CAROLS



